Question 12: Let a and B be the roots of equation px> +qx +r=0,p#0.If p,q, rarein APand 1/a+ 1/ = 4,
then the value of [a - f| is

(a) \34/9
(b) 2+13/9
(c)ve1/9
(d) 2417/9

Solution:

Given that a and B be the roots of equation px®+ gx +r=0
So sum of roots =a + B =-q/p
Product of roots =ap =r/p
Given 1/a+1/p=4

= (a+p)/ap=4

=> (a+p) =4ap

=>-q/p = 4r/p
=>4r=-q..(I)

p, g, rarein AP

So 2q = (p+r) ..(ii
Substitute (i) in (ii)

-8r = pH

Or=p

=>r/p=-1/9

=ap=-1/9
(a=B)*=(a+B)* - 4ap

= (-4/9)% + 4/9

=16/81 + 36/81

= 52/81

lo - Bl = 52/9

=2413/9

Hence option b is the answer.



